
Assembly 
instructions 

 
 

Anti-theft cage 
                               (ATC) 



Roller board 720 x 810 mm 
... already fully assembled! 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

C 
 
 
 
 

SC 
 
 
 
 
 

C - castor, SC - swivel castor 
Fahrtrichtung = direction of movement 



 
 
 
 
 

Mount mesh side panels: 
A - left mesh panel with 
hook  B 
B - right mesh panel 
with hinges  
Hook and hinges are 
on the swivel castor side. 

 
 
 
 
 
 
 
 
 
 
 

C 
 
 
 
 

SC 
 

C - castor  
SC - swivel castor 

Hook bracket (right & 
left) to the roller board 
and fix using the screw 
included (6.3 x 32 mm). 

A	



 
 
 
 
 
 
 
 
 
 

Mount back panel and fix 
to the side mesh panels 
(left & right) using the 
plastic clips.  
- Mind the recesses and 
holes on back and side mesh 
panels! 

- Fix the plastic clips with 
bolts M6 x 33 mm and nuts 
M6 using the hex key.  
Nuts are always outside of 
the cage! 

 
 
 

  

Plastic clips  

(colour: white/natural) 



 
 

Place roof, with the hooks, 
onto the side mesh panels 
and fix to the side mesh 
panels' horizontal (upper) 
cross tube using the plastic 
clips. 
- Fix plastic clips with the bolts 

M6 x 33 mm and the nuts M6 
using the hex key. Nuts are 
always outside of the cage! 



 
 
 
 

A 
Attach the door  

 using the pins (A) to the  A 
hinges of the  
right side mesh panel. 
Make sure that the hinges 
fit properly! 
 B 
Now secure with washer B 
A8.4 and nut M6 (A). 
 

 

Opening & closing:  
 

- Pull slide bar (B) 
- Lift door and open 
- Lower door 



 
 
 

 
 
 
 
 
 

Push support bracket 

over wire Ø 8 mm and fix 

with bolt M6 x 25 mm 

and nut M6. 

Fix plastic sleeve on one 
side with bolt M8 x 45 mm 
and nut M8 (A). 

Hang shelf using the U 
bracket and also fix the 
other side to the sleeve. 


